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fEn_ HIC5:_ A37:
3+ x— 3(4x + 5x2) —2x? 6x° + 3x— dx — 4(3x3 — xz)
S5x° + 3x+ 3(5x3 + 4x) — b6x 2(8)(?2 — 8x3) — 6x+ 3x — 8x°
4x — 6x° — 3x— 4(x —x) o> — 2" + 4(8x2 + 5x2) + 5x
4(8x2 — 6x3) +7x— 4x° + 6x Sx° + 5x% — 2(x + 9x2) — 457
8x° — 6x —x + 6x° + 4x° S+ 4x% — 4(9)(3 + 3x2) —8x
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2 HI:

3% + x— 3(4x + 5x%) — 2x°
3 — 177 — 1lx

5 + 3x+ 3(5)(?3 + 4x) — 6x
20x° + 9x

4x — 6 — 3x — 4(x —x)

—6x% + x

4(8x% — 6x°) + Tx — 4x* + 6x
~24x> + 28x% + 13x

8¢ — 6x —x + 6 + 4y
10x° + 8% — 7x

HIZh:

6x% + 3x — 4x — 4(3x° — x?)
—12%° + 1022 — x

2(8x* — 8x*) — 6xx + 3x — 8>
—24x + 16x* — 3x

0 — 20 + 4(8x% + 5x%) + 5x
7 + 522 + 5x

5 + 502 = 2(x + 9x%) — 4x°
—4x’ — 8% — 2x

5 + 4 — 4(9 + 3x%) — 8x
—31x° — 8 — 8
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